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(Sl ALK} T2 HALN Y (=H)-BSSAE AR X () LA SA-ZBESAE T2 g
1 2024.07.01. A F =T LS 2@ Z2HE 2 ZAEEDORE Li 2] 2l 7tE 90,000
2 2024.07.04. e ek L2 E Rl ZHE D LA EEDHOE L =% A 7tE 90,000
3 2024.07.05. ] L2 ZHE | SIS RNFSHLH L2 2 7tE 55,000
4 2024.07.08. 2 Z=ZlH| LY & ZHE 3 ot E7t LH 5 %] 2l 7tE 71,000
5 2024.07.09. A F =T LS 2@ Z2HE 2 AH O[3 0{A HIHH L= = 7tE 154,800
6 2024.07.09. e ek QENMZ HEZ DEHEY QIEHEZ 7t 7tE 378,000
7 2024.07.12. T =T L5 2@ Z2HE 2 SEMELZ Li 2] 2l 7tE 60,000
8 2024.07.15. e k] L =X ZHE | oI I} L= % A 7tE 53,000
9 2024.07.18. A F | QIEME 7HE 3 ot E7} QIEME T} 7tE 89,000
10 2024.07.22. ] L2 & ZHE | St E 7} L5 2] 2l = 89,000
11 2024.07.23. A Z = EIH| L2 ZHE | SEMELTF L= = 7tE 145,000
12 2024.07.25. AZF X QIEME ZHEtS Sl 2= ZACH A EFA| E| QIEME T} 7= 133,000
13 2024.07.25. ] QIEME 7HE 3 ZHAEE QIEH™E7t 7tE 16,200
14 2024.07.26. ] L2 & ZHE | A= L= = = 82,000
15 2024.07.26. k] L2 X3 7HE D A2 Ly = &2l 7tE 24,000
16 2024.07.29. ] L& 2@ ZHE 3] HAA LH &%) @l 7= 160,000
A EEEST 16 1,690,000




